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QUESTION 1

ABC company closed the accounting period for the month of October. Their current inventory accounting 

period is November and all their day-to-day transactions fall under the November period. 

The goods were physically received on OCT 26th, but the details were not entered into the system. On 

Nov 5th, they found a missing receipt transaction for Oct 26th. 

The business user tried to enter the missing receipt on Nov 5th with the transaction date of Oct 26th. How would the
system respond? 

A. The system would post the transaction with the date of Oct 26th. 

B. If they adjust the closed period tolerances, the system would allow them to post the transaction. 

C. The system would not allow the transaction to be posted because Oct 26th is in a closed period. 

D. If they reopen the inventory accounting period, the system would allow them to post the transaction. 

E. A warning message would appear because the period is closed. they can override it and post the transaction. 

Correct Answer: C 

 

QUESTION 2

Two Customer Service Representatives each book a sales order for an item that is revision and lot 

controlled. There are no other open, active sales orders for this Item. 

Each Customer Service Representative pick releases their order to the same warehouse independently. 

The Pick Release Rule used by both includes Auto Allocation. 

On the resulting Move Orders, Inventory has allocated all the requested quantity for one of the sales 

orders, but only half the requested quantity on the second sales order was available to be allocated. 

Using the Transact Move Orders form, which action sequence can the warehouse person use to reduce the allocation
on the first Move Order so that both customer orders can be equally satisfied? 

A. 1. View/Update Allocations;2. Change the allocated Revision and Quantity values, as appropriate. 

B. 1. View/Update Allocations;2. Change the allocated Revision and Quantity values;3. Change the allocated Lot and
Quantity values, as appropriate 

C. 1. View/Update Allocations;2. Change the allocated Lot and Quantity values, as appropriate;3. Select the appropriate
Missing Quantity Action. 

D. 1. View/Update Allocations;2. Change the allocated Revision and Quantity values, as appropriate;3. Change the
DestinationSub inventory. 
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Correct Answer: C 

 

QUESTION 3

ABC Inc. added a new Operating Unit to Its existing Multi-Org Access-enabled responsibility. When users logged in
using their existing responsibility, they could not see the new Operating Unit in the fist of values. 

What could be the cause? 

A. Security List Maintenance was not run. 

B. The Set MO: Operating Unit profile was not defined. 

C. The Set Multi-Org Preferences profile was not defined. 

D. The Set MO: Default Operating Unit profile was not defined. 

E. The Set MO: Security profile was not defined for the responsibility. 

Correct Answer: A 

 

QUESTION 4

Which two options would you use to restrict the functionality provided by a responsibility? (Choose two.) 

A. creating an appropriate role 

B. creating an appropriate group 

C. constructing a new menu hierarchy 

D. defining rules to exclude specific functions 

Correct Answer: CD 

 

QUESTION 5

Identify three true statements about defining actions In Oracle Alert. (Choose three.) 

A. An alert can contain only one Action Set. 

B. An alert can contain any number of Action Sets. 

C. When multiple actions are defined they must be included In an Action Set. 

D. Oracle Alert waits for user response before executing next action in an Action Set. 

E. When multiple actions are defined, they do not need to be included in an Action Set. 

F. Oracle Alert does not wait for user response before executing next action in an Action Set 
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Correct Answer: BCF 
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